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ish in Today’s World

Comparison and Contrast

The tables below compare the number of native
and non-native speakers of major languages. Table
1 shows the number of native speakers of major
languages. In terms of the number of native speakers,
English is not the most widely spoken language. s

English is in fourth place, while Chinese is ranked
number one. Table 2 shows the number of non-native speakers of major languages.

In terms of non-native speakers, English has many more speakers than other major
languages. About 1.4 billion people speak English as a second or foreign language.
On the other hand, the number of non-native speakers of Chinese is 200 million. 10
If we combine both native and non-native speakers, more people speak English
than any other language. This fact makes English the most popular foreign language

to learn in Japan and other countries. (135 words)

Table 1 Table 2
Language Native Speakers Language Non-native Speakers
1 Chinese 1,212 1 English 1,400
2 Arabic 422 2 Hindi 334
3 Hindi 366 3 Arabic 250
4 English 341 4 Chinese 200
[Source: The World's 10 Most Influential Languages by George Weber (2008)] TASK (millions)
o LDEFILVXDING TS THER
Fill in the blanks. EEEBHRTEEHDRIE.

Comparing the number of ( native ) and (non-native) speakers of ( major ) (languages )
The number of native speakers

*English  ( 341 ) million

* Chinese ( 1 ) billion ( 212 ) million
The number of non-native speakers

*English  ( 1 ) billion ( 400 ) million
+ Chinese ( 200 ) million

[Z ( English ) is the most ( popular ) ( foreign ) (language) to learn in many countries.

PARAGRAPH POINTS

EFIVXDINS TS TRRING —VZ#ESHR U,
I N T LINKING WORDS TFZDRR/NI—VT
ceeeecee EhNB DB ETEEDHIZEETS.

LR « SHROSS 75713, 52 57D EOBDZER

UEd In a paragraph of comparison and contrast, at least two thlngs are presented and their
. similarities or differences are stated.

LINKING WORDS

b similarly / likewise / also / in the same way / in a similar way

ARAGRAPH PO

#8:2= : while / however / on the other hand / to[on] the contrary / in comparison with

8 —LESSON 1




There is some additional information to indicate that English is the most popular foreign language to learn. This table shows the number
of countries where major languages are used in daily life, business, education, or tourism. Look at Chinese. Although Chinese has the
largest number of native speakers, as we have learned, it is used in only five countries. To the contrary, English can be used in 115
countries. This suggests that English is the most useful language if you want to communicate with people who do not speak your

language.
EXERCISES R TSEL /77578
CD1-3~4 AU LT B 0 U R > ST
Fill in the blanks. @ e
. information Lo
i There is some (additional) ( ) to indicate Language | Number of Countries
that English is the most popular foreign English | 115
language to learn. Arabic | 24
The Number of Countries spanish | 20

Russian 16

*Chinese Used in (5 ) countries

. ) . German |9
*English ~ Used in (115 ) countries Chinese |5
English is the most (  useful ) language if

you want to communicate with people who do not speak your ( language ).

I mED
120-140 BRRED/INS TS5 T%

CD1-5 B=Read the paragraph and answer the questions.

It is interesting to think about the role of English
in India and that of Japanese in Japan. In India, people
in the middle and upper classes speak English fluently.
High school and university education have been
conducted in English since the 19th century.
bookstores, most books are imported books written in
English. On the other hand, in Japan, just a limited

number of people speak English fluently. Higher
education is conducted in Japanese — the mother

tongue.

In

G, AW IEREHEL
ERTE LD DATILIERE.

In bookstores, most books — including books of advanced science

— are written in Japanese. Japanese people are fortunate to gain a high level

of knowledge through their native language, but it also results in low motivation

to learn a second language.

(118 words)

1. Underline the linking words that show contrast in the paragraph.

2. Fill in the blanks.

India

Japan

Fluent Speakers of English

classes

people in the middle and upper

a limited number of people

Higher Education

conducted in English

conducted in Japanese

Books

most books are (written) in English

most books are (written) in Japanese

LESSON 1—9
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100-120 BRED/NST 5T

. 1. Which country has become an aged society?
EFILX. TASK CABIERZ

- — Japan has. .
W ' 2. What is a heavy burden for some family members?
ge OClety — Caring for elderly people at home is (a heavy burden for
some people).

3. What is a solution to the problem?
— One of the solutions is to increase the number of home

. _ helpers.
CD2-18 Japan has become an aged society. g 180,000
S [ home helpers
There are many people who need to  &160,000

be cared for at home. It is offena 140000
heavy burden for the family members 120,000
to care for them. A recent newspaper s 100,000
article reported that this problem 80,000
would@probably become more serious 60,000

2002
2005

000 [

2001 [

in the near future. One of the 0

solutions is to increase the number § S § '§ §
. o~ o o~ o~ o~ o~

of home helpers, who offer nursing 1o [Source: Ministry of Health, Labour and Welfare 2008](year)

services to elderly people. Home helpers reduce the family's burden.
Actually, the government has taken several measures to increase the number
of trained home helpers. It is expected that the number will be more
than 350,000 in the near future. (104 words)

4. What do home helpers do?
— They offer nursing services to elderly people.

?
[@VEEPITD Listen carefully and answer the questions. @ 5. What has the government done to help?

— The government has taken several measures to increase
BUILDING BLOCKS

the number of trained home helpers.

BUILDING BLOCKS
EFILNFDOKRF TRE N 2 DDMEERRZ, BUHEEZ

CD2-20 , A Guess, Assurance FORIDRIEE H(CHITETER. TASK TREDERE.

© My grandmother will probably enter a home for the elderly soon. (=54
® The number of facilities for elderly people is likely to increase. ~Lz57)
© It seemed that there was no solution to this problem, but they found one.
O | guess he takes the problem too seriously. -3 (-EEDI
© I'm sure that we can solve this medical care problem. ¢ -&igiELc2)

LY\ Using a dictionary, learn about the differences in the meanings of the following words.
certainly / probably / perhaps / maybe / possibly

CD2-21 . B Expectation

O The government is expecting that medical expenses will gradually increase.
(-ETELTVZ)

@ My grandfather is looking forward to the weekly visit of his home helper.
© My father hopes to be looked after by a professional CERLHELCNS)
caregiver when he needs care and help. ~93zcezg)

Complete the sentence. (Z) €

My father is looking forward to his life after retirement.

 facility fiizk

24—LESSON 6




CD2-22

Vocabular . Vocabulary Buildin
Buiiding oAged Societ F oy SRMOBREA T TU—TE I R
UV IS EBH SEDHERE.
Cause ‘Problem Suggested Solution
increased life a burden on a family increase the number of
expectancy a burden on society home helpers
the population of increasing medical increase birth rate
elderly people grows expenses support child-raising
declining birth rate pension plan in crisis increase the welfare
budget

people increases.
\_ @ cvomEonsEmERY, | )
CD2-24~25 EERIERTE & HHRE.

Grammar Tip
XZELBICEHEVNPTL), H30(F

v : ERTRECHERAY R, EFILO
@rammar Tip TenseSequence § .o c o somm

a. The article reported that the medical costs would rise dramatically in ten years.
b. The old woman spoke good English. It seemed that she had lived in a foreign country.
c. She said her grandparents go walking every morning. [B#HI0—DHIN]

LMY Compare the two sentences.
I hear that Mr. Carter had passed away. / I heard that Mr. Carter had passed away.

reform the pension plan

Care Expense / Budget
offer nursing services / caregiver / medical expense

home helper social expenditure / consumption tax
facility for elderly people / day-care center income tax / reduce waste in the
walking assist machine / welfare assistance budget

Example sentences

a. Some critics are worried about the declining birth rate in Japan.

b. If this trend continues, our pension plan will have to be reformed.

c. Experts predict that medical expenses will increase as the number of elderly

@ Listen to the lecture and fill in the blanks. ~ *Script to page 22.

Issue: (® home) (@helpers)

DMain job of home helpers: to help (®elderly) (@people) in (® their ) (®homes).
@ comparison of the numbers of home helpers per 10,000 people.
-Denmark (@ 54 )

-Japan (® 141 )

What can we guess from this fact?

We can guess that elderly people in Denmark can use home-help services

(® more ) (® often ) and (@ more ) (@ easily ).

VB life expectancy 4% [£ medical expense [E#i#  welfare budget fE#lk 45
pension <l consumption tax {HE¢RE .
L

Vocabulary Building &
D—BBOERIDFER. LESSON 6——25

uoissaidx3 ysybug
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A:Mom, today | learned that “walking assist machines” will soon be used by many people.

B: Walking assist machines? What are they like?

A:They assist people who have difficulty in walking. For example, they help elderly people walk

around by themselves.

E R c I E B: That's great. I'm sure that will reduce the burden on family members.
eesssssscsssssses A:That's right. But, even after those machines are developed, probably we will still need a lot of
manpower in an aged society.
CD2-26~28 B:1agree. We will need more and more professional caregivers and home helpers, anyway.

Y Listen carefully and answer the questions. @

1.( 2(TYF)  3.(TAF)

A
rEY IREEDY X =Y IR,

B Make as many sentences as you can, using the words below.

Questions: True or false?

1. They are talking about the technology
used in walking assist machines.

2. Walking assist machines could help
elderly people enjoy an independent
life.

3. They believe walking assist machines
are the complete solution to the
problems of an aged society.

1. Ihope TguessHmsure] that the new pension plan will work.

2. I'msure[lguess/Ihope] that you

3. 1guess['m sure] that our life expectancy is 1 R O
. . . . BUILDING BLOCKS %
4. Life-long learning _islikelyto  become more important. S ——
looks [is looking] .. . .
5. My father forward to living in a foreign country after retirement.
fE @

[ guess, hope, likely, look forward, sure ]

joy a comfortable life after your retirement.

Grammar Tip TF& U

=awrect the underlined parts.
had

1. He said he has worked at a home for the elderly.

2. My grandfather would often say that time was

wanted

3. They were asked if they want ¢
4. 1 heard that

[ Put the words in the correct order.

SOERE.

i D]
Vocabulary Building ©
FBUICEREE.

sumption tax to be raised or not.

—. ere R .
oliticians are concerned about the declining birth rate.

1. Many elderly people ( are / their medical expenses / worried about ).
: . are worried about their medical expenses .
2. If this trend continues, ( have to be / increased / our welfare budget / will ).
our welfare budget will have to be increased

3. The professor predicted ( Japan / solve / that / the challenges / would ).

that Japan would solve the challenges .
people / increase ).

4. We should ( employment opportunities / for elderly

increase employment opportunities for elderly people

[@YPIEBE Complete the sentences: i O

WEMRE. 55 CDICRENSDRT U S ~ZINER.

—

OHAAD T IR—Ewed.  However, at the same fime, QERD M
STETVEY.  As a result, @HARERMIERICZYD, TS E>TEETERMEALE T
%9, One of the solutions is @iiER% FF27dlcFET(child-raising)# %25 &
TE.  OUOROMENB B LikELTVET.  For example, we need to have more
day-care centers. Also, more men should take child care leave.

(M The (average) life expectancy of the Japanese [Japanese life expectancy] is the highest in the world. /

Japanese people have the highest average life expectancy in the world.

@ the birth rate has been declining[decreasing / dropping / falling]. / the birth rate is becoming lower.

(3 Japan has become an aged society, which causes[creates] various problems.
@ to support child-raising in order to increase the birth rate.

® I'm sure there are several measures to take. / I'm sure there are several measures that we can take. / I'm sure

there are several possible solutions.

26——LESSON 6




CD2-30

140-160 B F EF WD

SUPPLEMENTARY READING ] »3+evomeox

Japan has become a society with®an aged

population and fewer children. If no action is
taken, our pension plan is likely to face a crisis.
Although about three workers supported one
senior citizen in 1998, the ratio for 2009 became s
1.8 to 1. Also, medical expenditures for elderly

people are greatly increasing. We have to increase
the welfare budget in order to cover more social expenditures such as pensions and
medical care. But how? Some experts say that the consumption tax should be raised.
On the other hand, some argue that the rate of income tax for the rich should be 1o
raised. Others insist that we should reduce waste in the budgets of the central and
local governments, and then use that money for increasing social expenditures. Of

course, this issue is not so simple. The debate is continuing. (140 words)

Make an outline of the article. HE D

® FTHROEBERD7 OIS A

Problems: aged society ZEERERICE EHDMHE.

uoissaidx3 ysijbug

12 NYODINN

(1) Our pension plan 1S likely to face a crisis.

(2) Medical expenditures for elderly people are greatly increasing.

Suggested Solutions:

(1) Consumption tax should be raised.
(2) The rate of income tax for the rich should be raised.
(3) We should reduce waste in the budgets of the central and local governments.
ME
B'Fill in the blanks so that each opinion makes sense. 9% OTIEIERE, SETIR

BRURZEZRFR, hEVIIC

Opinion 1 DV THIBERZNZ 515.
Raising the (® consumption ) tax is a good solution because the tax is place

on everybody equally. The social burden should be shared equally by
everyone.
Opinion 2

We should consider raising the rate of (2 income ) tax for wealthy
people because richer people should take more responsibility.
Opinion 3

There may be some (&  waste ) in our government budget. We could

increase our welfare budget by (@ reducing [cutting] ) the waste.

f (o, \URS [ In the article, three solutions are suggested. Which one(s) do you agree

with? Write your opinion with reasons.

CHALLENGE

FeyoIcBELAEECOLT, Bsoce | 2/
[EDVTEWEWE LY I 35FEH D05,




Comparison and Contrast
Working Women | e sosusnis-

STEFILX.

These graphs show the percentages of workers by sex, age group, and country.
First, look at the graph for women. In Japan and Korea, the percentages become
lower in the age groups between 25 and 44. Actually, this trend is called an
“M-curve.” In contrast, the other countries do not show an “M-curve.” Then,
compare the graph for women with that for men. In the graph for women, as s
mentioned above, you can see two “M-curves.” To the contrary, in the graph for
men, there is no “M-curve.” These facts suggest that it is necessary to learn about
the causes of the “M-curve.” (103 words)

Labor force participation rate

100 100

" @ (Femaled

80 80

60 60

40 40

20 20

0 0
2 X33 3T e IFHIaI BT 233 aIeIFaI e
O © h O W O WKL O WO WM O O © h © B O 1 O WK D W O
— o~ o (28] [ag} < < wn wn O O ~ — o~ o~ (23] ™M < <t N el O O ~
(Age group) (Age group)

=@~ Japan =#=the United States == Germany ==Korea TASK [Source: ILO LABORSTA 2011]

_ EFIWXDINS TS TIERERE

X Fill in the blanks. BERUTS & HRMHE.

These graphs show the ( percentages ) of ( workers ) by sex, age group, and country.
Graph for women
*Japan and Korea: the percentages become ( lower ) in the age group between
( 25 ) and ( 44 )

*The other countries: there is no ( “M-curve” ) PARAGRAPH POINTS
Graph for women and graph for men EFIXDI5TSITRA
5 — 2 7E R,

* Graph for women: you can see two ( “M-cur

* Graph for men: there is no ( “M-curve”

[@ It is necessary to learn about the ( ) of the ( “M-curve” )

PARAGRAPH POINTS

LElE - SO S5 75T RN T 575 LTI, BA Vb -3 - Ba 2 M5 (point-by-point
organization) &7t 7 /51 (block organization) D200 /EAHOET. D855 71
RAVE A RAVIGR, FHR=VDIF 5571371y 75 TT.

A paragraph of comparison and contrast is organized in two ways: point-by-point organization or
block organization. The above paragraph is composed according to point-by-point organization.
The paragraph on the next page is composed according to block organization.

ses

98 —LESSON 21




Point-by-point organization Block organization

KAV A - RAV AR 70v7AR
Topic Sentence Topic Sentence
Point 1 Item A
*ltem A *Point 1
*Item B * Point 2
) FOCUS!
Point 2 N5T57 54747 % Item B
e [tem A E<LBDERRBEEFE. * Point 1
* Item * Point 2
[4 Conclyding Sentence Concluding Sentence

FOCUSe Topic Sentence[FzEX]

FEIRDIDDEF D HYE . A topic sentence has at least one of the following three characteristics:
@355 57Dy ZieI5E5. The topic of a paragraph is stated.

@35 T T TDAAL U TAT 7 %4139 %. The main idea of a paragraph is stated.

@355 7DPTb RN THS.  Topic sentence is the most abstract in a paragraph.

EENICHITBEES Points to remember when writing a topic sentence:

1. REMI I3 5. xCan you imagine a life without computers?
2. HiZx A RS C L idhHT 5. xLibraries have books.
3. HLFRVAIGET B, xSoccer is a great sport. | TASK

1. Avoid an interrogative sentence.
2. Avoid stating a simple fact.
3. Avoid an ambiguous

100-140 BFEED/INS TS
TEHH, TONSTSTHE
RZEEET SR,

uoissaidx3 ysijbug

12 NYODINN

([@)PED X9 Read the passage and answer the questions below.

The following are some of the findings
from recent studies. Men sometimes
take extreme risks. Also, men’s leadership
style is described as “negotiation-based” s

or “carrot and stick.” This approach is [+

considered old-fashioned by some
researchers. On the other hand, women

are less assertive than men. In fact, women’s management style is characterized as

more relationship-based. It aims to encourage workers. If we have more women 10

managers, some companies may experience changes in their work environment.

1. Choose the best topic sentence for the above paragraph.
There are differences in the management styles of men and women.
b.Are there any differences in the management styles of men and women?

. There are differences between men and women.

2. Confirm which sentences refer to men, and which sentences refer to women.
Use the two types of underlines: for men and for women.

LESSON 21— 99




This table shows the percentages of Japanese working women by age group. It is interesting to compare the numbers for 2007 with the
numbers for 1975. There are some big differences. First of all, look at the age group between 25 and 29. The percentage for 2007 is 74.
On the other hand, the percentage for 1975 is 42.6. Then, look at the age group between 30 and 34. The number for 2007 is 61.4. On the
other hand, the number for 1975 is 43.9. Finally, look at the age group between 35 and 39. The number for 2007 is 62.4, while the number

E X E R c I S E S for 1975 is 54. From these facts, we can say that Japanese women have truly advanced in
cessceccceccsssse society, although there still might be some problems to solve.

CD8-26~27 FiRE O
¥ Listen carefully and complete the data table @ — M JBEEDAEEREERY,
cen RERMTEZUAZYIHE

Percentages of Japanese working women:
$Year Age= 15-19 2024 2529 30-34 35-39 40-44 45-49 50-54 55-59 60-64 65+
1975 217 662 426 439 540 599 61.5 57.8 488 38 15.3
2007 163 689 74 61.4 624 704 73 68.4 596 397 12.9

B)_Put the following sentences into the logical order.

of women die in child birth, while the risk is 9

a. In Norway,

percent in Afghanistan. 2 ;
i ) BDE D LRNICIEB K5 IEX
b. In Norway, skilled staff are present at almost every birth. | z#~#x zm8.

C. Midwives and other health providers must be trained and supported in the
developing world in order to help mothers, newborns, and children.

d. Mothers in Norway and Afghanistan live in very different conditions.

e. Norway is the best nation in the world to bring up children, while Afghanistan
is the worst, according to the 2011 Mothers’ Index Rankings.

f. On the other hand, in Afghanistan, skilled health personnel attend fewer
than 15 percent of births.

do>( e )=>( b )=>( f )mwam( c)

i)

o RRZZFHINY, FHHNOIEA
Complete the paragraph based on the graph below. SEVECESRC IS
Average time for all persons spent on activities related to housework by sex

2 5\
Male & & & O Ny
o 3 O O Q
X K < & 2 N
& > & e &
& Q ® & O O &
S & & o O &
8 1" 16" & S @ & S K @
NG N & (O N,
l l T T I
139" 4" 35
0 1 2 3 4
(hours)

[Source: Statistics Bureau, Ministry of Internal Affairs and Communications, Japan]

This graph shows the time spent on housework in Japanese homes. We can
see a big difference between men and women. First of all, (®  men ) spend
49 minutes a day on housework while ( women ) spend 3 hours 56 minutes.
Then, look closely at the differences by kinds of activities. Men spend 16 minutes
on (® shopping ), 11 minutes on @ such as cleaning, and 8 minutes

on ® such as cooking. On the other hand, ® . These

facts suggest that @

@®household upkeep

T100——LESSON 21 (®management of meals
©®women spend 1 hour 39 minutes on management of meals, 41 minutes on

household upkeep, and SSH.Ates on shopping

(@ Japanese men should shar re household responsibilities
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COMMUNICATION ACTIVITY
FEYIICEEULERRESRHRY,
FHFENTEABICOVTEWVREYEL

COMMUNICATION ACTIVITY 11T BEm.

STEP 1 Look at the graph below and discuss what we can learn from it. &

Percentage of married men who help with housework in Japan, Germany, and the United Kingdom

M Japan
[l Germany
M The United Kingdom

Cleaning Washing Shopping  Preparing  Clearing Helping Taking care  Taking care
thehouse  clothes meals the table children of babies of parents
with
homework

[Source: White Paper on the National Lifestyle (1998)]

STEP 2 Write a paragraph based on what you learned from the graph. @

According to the graph, we can say that

For example,
On the other hand,

In conclusion,

STEP 3 Give a presentation based on the paragraph you wrote. &

Useful Expressions

(@ This graph shows ...

@ The subject of this graph is ...

(3 One of the trends[facts] shown in this graph is that ...
@ By studying this graph, we can say that ...

® In conclusion, ....

CHALLENGE
FEwIICEEUREEICOWVT,
BADT EICDVTETEEH D
Di5.

eﬁm A “house husband” is a husband who stays at home and does the

cooking, cleaning, etc. Carry out a survey on people’s attitudes to a
house husband in your class and report the results.

LESSON 21—101
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] PHRASAL VERB 1 Speech and Presentation

0 RE-FETLE!
AU—FET LT

Y3V ORBALIBES
2320 AR, KOO ET,

BAEPREORE - LEERT OB
14, on, over, away,

BLShET. KL, B 2
BT, PRI R O TS TS
—tasorsiman
A on
ARISDEDEDRIMEELET. HEBEPREOREL, Fo& [BNELY THEMIE DDBDAsE-IEERS MRPAREELS
BB EMTOBTEDS, HFLRTLIRYELL. [EN I e (R, G0, BRRE, MEE, BRLE)
A5AFPRERREMNGT LT B, X5K CFL. BORH, XAGLERD

) The discussion went on for four hours

FLAVRABEREELL:. oo SRR RS E LS

B RE-FETLE!
A= FLT L

<32 O— RS
2 AV 5 ARHEWIE, KDL ES:

2 My grandmother carried on her work as a piano

instructor for as long as fifty years. INTRODUCTION INTRODUCTON

SO L M LTS ERI UL e SORSTHEONL 2, AT,
e 2 FLA 7 a0t iE, STTOUTLINE
5 The club meeting dragged on till 6 pm i T o UL

IO PR T LB E LR, tsgon SRR E S ST R LT, Sh B LR ON

| main idea firsczt A
1 M, AU, TS T2y T

BoDY

B over Main points > Supporting detas nEs:

BODY

main idead¥ -}, main pointsh
supporting detals ONICHEATLEES.

FRISBHEFO LEMOTEERLET. HECECEPTAN—EORMICHBT EH Mainidea | Branches | Supporing
() T LITTO B, —ERMEDEETHBE SRRERT LI ELL (=5

( We stayed over at my grandparents’ house last night.
SO

HEDELE. Boamcmma RS
@ The decision was held over until the following day.

SR SR ELL. e TR S, o S

CONCLUSION
coNCLUSION i (D) 5RO

14—suovp 46—uNcom N |

APPENDIX
NI ST HERTESIERWNEZESHER AT VI TCEEINEERALER,
TEENCEDRIEE APPENDIX ELTHEESHEL.

b— « SAFAUH THES CSATAUE
AN2IvE— SATAVT N3 BHX A TATEVY  SAT4V 7
| Essay witing 1 ]
Il Explanatory Essay v 2 AERE
Improving Intelligence
NTROBUCTION In order to describe intelligence, prychologiss use
KemoRs two terms. One is “crystallized intelligence,” which is
— roughly speaking — knowledge. The other s “fluid O punceuation
L e intelligence.” which is the kind of mental ability that
e allows you o solve new problems without having any
y P s any WA A7 CRADAT AT, KRR~ BOE
related experience. You can improve crystallized
intelligence by learning. O the other hand, fluid
intellgence has been said to be something you were
born with and cannot be taught, which is discouraging Noah Webster:
1o many students. However, a new study has found [Editor of the First American Dictionary
that it may be possble 1o train people to be more N
inceligen, increasing the brainpower they had atbirth © “When Noah Webster was a teacher, the textbooks
T the new study,researchers describe a method for (s s () i Ao 538 G (i
oDV improving fuid intelligence, along with experiments England, Webstr didn' like those texibooks. He
10 prove it works.  According to the rescarchers, the imncrl Aty d s s e e
AR5k was carefully structured training in “working r o A
memory.” Working memory or instance,is the ability fe Bl Ay s i) [ (e
that allows you to memorize a telephone number just American books” In 1783, Webster wrote a book
long enough to dial it. This type of memory i closcly to teach students how to read and write®A
related to fuid inteligence, and appears to rly on the o -
e bsin s, S the rcachrs esoned it et sy o o By s
improving working memory might lead to improvements became very popular and was used for the next
in fluid inteligence. 100 years in schools in all over America!™”
ctionary S
v “The following i the procedure of their experiment. Wz Whinse (sl il e efeyfte
Firs, they measured the fluid intelligence of four that time all the dictionaries used in America came
smor e groups of volunteers using standard tests. Then. they (i s, pbm s el st
trained cach group in a complicated memory task. In eooctEnaking dictionary & An Averian Di
the task,the participants were required to simultancously epoctrmaking dictionary == Au Amencan Dictionary
memorize stimuli presented by sounds and visuals of the English Language — in 1828, he was 70 years
which they were asked to recall later. The tasks became old. His dictionary ™t had 70,000 words)
harder when the partcipants succeeded, and the tasks o I
became casier when they faild. This assured a high (itmaihe) Ao Bt gt el
level of difficulty adjusted individually for each “colour;” “wagon” for “waggon,” and “center” for
[ a—— “centre”
p136
152 weronz

p152




3 LANGUAGE FOCUS

1.3

Bids sing
Emily smiled sweet)y.

My brother was in th bathraom

1 usually get up atsix i the morming.

S

SHVHC My sister is a nurse [#iti= 551
The baby kept quiet in the train. [§38
She became very happy at that time.
1 got tired after a long walk.

Some oranges went bad in this box,

140 2. We like ths s0rg
. forgot o drop by a supermarket,
. Tom knows (that we diie on th lftn Japan.

SIV40+0  a.Emy sends me an e-mail every day.
b. Please bring us some drinks
He asked

SIH04C  a. They named the giant panda Meirei
b.  found the movie interesting
. We believe the man innocen.

. She painted the wall white.

There islarel 2. There are some plants which can survive very hot 112, ps3.
conditons.
b. There are many people questioning the safety of GM 112, ps3
foods

2.0
" a.| want some coffee. [zt
b. She eats avocado salad every morning. [&HEy B¥]
. Animals cannot live without sleep. (331
Here comes John. (J{E8EC 5T L 28
154 apreroi 3

<3

pi54

5 EXPRESSIONS BASED ON TOPICS

WA BB (> C ORI

1708 4HAE 181
PRIVEIL2. 3} 17 o 18
55778 UELLS, 12,16 177
2um@ 178 syt -xumu/uuw 1w
£ UELLS/ UE2L ) 7 a2
77225 (UEFLAS ™
y 17 SEREARUEILS m 184
it 1
38 (UELL18) 10 e
0N UEHLAI) 150 15
3mLaE 150 185
150 155
151 185
151 i 155
11 5 (UELL19 / UE2L, 10 185
M UE2L3, 5,6, 16) 156
[
o
T (olnFIU-DEGVERT)

[P UELLESSON2, 3

@L 5B school
Do cducatonl chol /14 boys scho /164 s school 1314 pblic school |
1 R private school & 4 B 1o £ 1 6 preschool /¢ 1 i nursery school / /% i
elementary pnman\xclvoo\/ "5 t2juorhighschol /16 % % Nighsehool 7

. 7% cram school / %€

dormitory

@ school building
BRI teachers staff] room / (B8 nurse’s room /143 |
audioriom/ 4 (chool)gae Vot /75K (sportsground e /3

rary / KT gyminasium) / 44
¢ cub room.

5 teacher
A pncipl 2t vice principal / IHEOE
et math b/ ALT O st nguse b

o5, 0 schoolyer temsemestel.
1 school year / % Bl term PHIB] @ P
studentof senior high oo et s grader]/ 2% sophomore / 3417 (3HO)

150 semester

@21267% school event
al festival £ 7% /55

<5

pI76

APPENDIX

A  SCEDE LB
V4 #eeRRinge

4 EXPRESSIONS BASED ON FUNCTIONS

B3 & R (UE2-LESSON 10)

when /in / as (~¥5EE) €
while / during / for

afer / just after (~RiTE)
before / just before (5.2 £~
by / until 61/ after (~#

ince / I is ~ since .. C-EUE~H) / It was ~ before... (- Tt~
VoRh~TEE once

It i four yearssince 1 saw my old classmats Lt
e s o by o o el

~Once you cross the line, you can' change your mind.

vy fnn & sl e i he vl couarie,some peope e of bunge
19 (UE2 pa2)

NS - WA B3 E

on time / justin time (525 / right at noon GEAF 2100
ahead of tme schedule) mw&‘)“o/nhlz\curlyk'bb“(

10 minutes carler (107241)
s behin cime chdu] Gl
shortly aftr (L.

s
e

) /a e late (LT

e leave Naric airport on time? (UE1 p30)
e e e e e i 0
“The 700 express arive ten minutes behind timelschedulel. (~/Ht

oy
< soon /st once /in a moment / in no time / shordy / instandy /
immediaely
FreicsE right now 1/ before long / very soon
TaETC as soon a / soon after It was ot long before ... ¢+ LEOUIE <

reott)

“The Japanese plyer began to play in the major leagucs and at once he became popular in
dhe Dnid S, 630

y et ok op gl P 1 sooma e i rom wok U4 )

e e e (e
T e e D e

162—soveonea

eV IRIRRE
Vo "2—RIxBEE

p162

6 EXPRESSIONS BASED ON PATTERNS

e THERR - B LESSON 1-21)
e

Kcos similar to / like
XS in the same way /

s i o e & and B

~The qualiy of i in those countrie s similar to that n the U.
e e e U L spccmhw subjects.
)
I it different from gene therapy? (& 1/55)

o
s in contrase / on the other hand / onlo] the contrary / while ()
oL but /yet / howerer

<icennbsT though / athough / in spite of

~On the other hand, the number of non native speakers of Chinese is 200 millon. (25
“Though a 24-hour socicy s convenient, i is not eco-frendly. (~721)

ot
et compare ~ with ../ in comparison with

“Then, compare the graph for women with thatfor men. (£<THT)

2 TRRMSIRAE (> LESSON2 - 22)

eutr:

~irc in /i the 1980 (1980 1£(C12) / in the 20th century Q0 W21C) /
around 2 0t

~omc during / while / from ~ to ... (~#5-0lko) / by 2000 (2000 5%
b

~orai when / as /in / every time (3523181

atfist/ inlfrom] che beginning / carier (IE)
after / afterwards / later / andisince] then CE115)
aclast /in the end

“Inthe 15705, LPand B recrds were the mos: popua eoring i o s, 1570
LS
P e s G

pl88
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B

B

B

AZAVRBRE1-2Z2EHEOFEN

UNIT |
(B A

(2X—H8R)
EEIEE

WV

UNITZ
[A5R]

(4AX—IHER)

WV

UNIT3

OPTIONAL}
UNIT

(4X—H8)
[ £58%

1 EE b b VAT e <cals)

EE) a4 EomsRn

Xk

hPEEEEESC, BREDAE
HEEICES LIEANGITBRRZE
BEEBIC, XOWEE/NE— > TR
LY.

WAWAITLRBIZ
IO ES

EX meexm, bevomE
TN BB %
FEY ISR TEEEELHATEL

UNIT1 CEB LIEXDERPEER
IBICLEDS, XZEHNICT BT
DEEETELEPRRZEFICTDOIT,
ThoSZFEST, RIFHERPT T TY
1k, L, TEETEHEMATX
ZEHRBZELET.

X2 HPNLTED
5557 DEAR
THTRBHHNIK, UNIT2 THIT
DF WA WA LEIEPRIBZE T
DO TS THEEY, £$EE>A
RECADEEELET. AEHITIE
RERIFNTEZLET.

p-10
)"1 IN THE MORNING

Choose the right answer.

Da. Atsix.
b. At six thirty.
<. Atseven.

B a. It was cloudy.
b. It was raining.
<. Itwas sunny.

BUILDING BLOCKS

Getting Up

© Misaki usually gets up at six.
@ It is very cold today.

© I wash my face first and then change into my school uniform.

p.70
“ FASHION

BASIC EXPRESSIONS >
@ Choose the right answer. \\%
Da. Ajacketand atie.
b. Jeans and a sweater.
c. Jeansanda T-hirt
B a. Agreen shirt.
b. Aminiskir
€. Asuit.

TW30ERS (<]
© | saw Ken wearing a jacket and a tie today.
© | heard a newscaster talking about the new fashion trends, so | listened to
the program.

$+V+0+C[=present participle] » p.130

© 1 found him wearing his Tshirt inside out.

putting on his glasses to read a book / changing into his casual clothes

© 1 feel this sweater prickling me.
b

DT, EOBRICHAERELL

p.-94
m ENVIRONMENT

BASIC EXPRESSIONS

@ Choose the right answer.

@ a. She does what everybody cannot do.
b. She turns off the radio.
¢. She turns off unnecessary lights at home.
B a. His wife doesn't care about recycling.
b. He doesn't separate the trash
<. He has a very strict attitude.

participial construction » p.136

© We walked along the road, picking up empty cans.

© We went through the forest, watching wild birds.

© The villagers cultivated the land, planting many seedlings.

© The bus driver turned off the engine, waiting for the signal to turn green.
or.

iy EL
DEAEMAELL
i 1D, RERHICEDEOETEELL.
(X3 Compare the two sentences below.

He watched the insect, lying on the ground. / The tree lying on the ground is a baobab.
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UNIT |
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UNIT2
[ AER]
(AXR—I¥ERR)

WV

UNIT3
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7474/7
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Paragraph Reading
NS TS TREING—>

iG] TH< BEBEELTNZ TS
T DEANGENEBHERLET.

Functional Expressions **46

and Grammar for Use

B3 maexm, revomE
EBICRPEVNRT VAR
EXd rcyrIchoTRRYPER EBNS

HEERBOREN R T W\ GERBEA Z
BLEDSINS TS T DREER =T
2L, PEYIVBEOTEFHEEX
EELAEBICOITET.

Paragraph Writing
NS TS TRRINZ—VIiE>TEL

BEEHELT, INETEICDIFT
EEV, OE REZHVTHRED
BRI EINS IS T « INE—VICHED
T &<y EEELET.

p.98
&, Working Women

p.8
English in Today’s World

The tables below compare the number of native
and non-native speakers of major languages. Table
1 shows the number of native speakers of major
languages. In terms of the number of native speakers,
English is not the most widely-spoken language. 5
English is in fourth place, while Chinese is ranked
number one. Table 2 shows the number of non-native speakers of major languages.
In terms of non-native speakers, English has many more speakers than other major
languages. About 1.4 billion people speak English as a second or foreign language.
On the other hand, the number of non-native speakers of Chinese is 200 million.
If we combine both native and non-native speakers, more people speak English
than any other language. This fact makes English the most popular foreign language
to learn in Japan and other countrics. (134 words)

Table 1 Table 2

Language | Native Speakers Language | Non-native Speakers

1 Chinese 1,212 1 English 1,400

2 Arabic 422 2 Hindi 334

3 Hindi 366 3 Arabic 250

4 English 341 4 Chinese 200

[Source: The World's 10 Most Influentic 'guages by George Weber (2008)] (millions)

Aged Society

Japan has become an aged society. e
There are many people who need fo &
be cared for at home. It is often a
heavy burden for the family members
1o care for them. A recent newspaper =
article reported that this problem
would probably become more serious Y
in the near future. One of the 0
solutions is fo increase the number 3 g £sg858
of home helpers, who offer nursing 10 ouce sty sbou e 2009 (year

services to elderly people. Home helpers reduce the family's burden.
Actually, the government has taken several measures to increase the number
of trained home helpers. It is expected that the number will be more
than 350,000 in the near future. (104 words)

X3 Listen carefully and answer the questions. @

A Guess, Assurance

© My grandmother will probably enter a home for the elderly soon. (-
@ The number of facilities for elderly people is likely to increase. Lz

Comparison and Contrast

These graphs show the percentages of workers by sex, age group, and country.
First, look at the graph for women. In Japan and Korea, the percentages become
lower in the age groups between 25 and 44. Actually, this trend is called an
“M-curve.” In contrast, the other countries do not show an “M-curve.” Then,
compare the graph for women with that for men. In the graph for women, as
mentioned above, you can sce two “M-curves” To the contrary, in the graph for
men, there is no “M-curve” These facts suggest that it is necessary to learn about

the causes of the “M-curve.” (103 words)

Labor force participation rate

loo 1%
o D " D
B0 8 T,
6o &
o W
\
4

bo 2

X 335338 xR

—a- Japan =&=the United States

Germany -8=Korea Source: L0 LABORSTA 2011]
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FR1RHK2 TR NE/EHEERREGIE
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TESSON 6
TRAVEL [#7778] ‘l

BASIC EXPRESSIONS
A BEEME UFOBMCSRELLS.

1.Q1. What is Mike reading?

Q2. When will Mike go to Nara?

a2,
2.Q3. What does the boy do when he has free time?
a3,
Q4. What does the gir like to do when she has free time?
4,

(BABDEEET. BAMHELED.)
B. BEEWE, FEHCASEEZSENBAN.

1. A What are you reading, Mike?

B:Im gy some guidebooks on Nara.
A: O, really? Do you have a plan to go to Nara?

B Yes, o o

A: That sounds great. s you il have 2 good time there
2. A: Do you ride 3 bicycle?

B: Yes, Tke e v e e, Ll 90

Are you interested in s,
ich.  Actually, T prefer going for when I have free

€. RELE BOREBERY, ADBBOBAE (BE) WELELLD,

. ROTHEEBNERE B LORL, THHCHEAHE LSS, ( JOUFHE,
FOTEHEDN TN BRLNN DBINETLTNET,
BERE ()

LESSON6 Listening Introduction

A You will hear 10 phrases. When you hear an English phrase, transiate it info
When you hear a Japanese phrase, Ir into Engish.

B Listen to the following passages and choose the best topic from below.

1. Noone kr long he or she A0 of s wil i same cay n the
forever. But w of people

compiicated, the age at which people get married
arelkely o have
of

s will one day retire from their job. After they retre,

il safoy o thei company, Becauss of s, he

port them by paying some amount of money every month.

e ol supgort sher ey rere Trom otk ars rd
(57 words)

BRBMIEEL— b Vocabulary Building >—
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Antismoking Measures

Aged Society HE - RS/ TA - B B D—3 3
Global Warming B &% - BB R

Food KR IEX FRDEM e

Genetic Engineering &t EE There is #3X

Globalization and Language RHR - &R #JEO P 3

Universe H® B - Rt

Biodiversity ¥R 3

Medical Ethics 5 =1k &5, to AEAD 3

Music Sales FERIER

Paradox of the Digital Age REH - 5%

Body Language: Key to SuccessinBusiness 3877~ « B
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